
Övningsblad
Standardgränsvärden

lim
x→∞

a x

xα= lim
x→∞

a x

xα=

lim
x→∞

xa
a log x

= lim
x→∞

xa
a log x

=

lim
x→±∞ (1+

1
x )

x

= lim
x→±∞ (1+

1
x )

x

=

lim
x→0

sin x
x

= lim
x→0

sin x
x

=

lim
x→0

ln (1+x )
x

= lim
x→0

ln(1+x )
x

=

lim
x→0

e x−1
x

= lim
x→0

e x−1
x

=

Derivata av elementära funktioner

De x= De x=

D ln x= D ln x=

Da x= Da x=

D a log x= D a log x=

D xα
= D xα

=

D sin x= D sin x=

D cos x= D cos x=

D tan x= D tan x=

D cot x= D cot x=

D arcsin x= D arcsin x=
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D arccos x= D arccos x=

D arctan x= D arctan x=

D arccot x=¿ D arccot x=

Elementära primitiva funktioner

∫e x dx= ∫e x dx=

∫ 1
x
dx= ∫ 1

x
dx=

∫ xα dx= ∫ xα dx=

∫cos x dx= ∫cos x dx=

∫sin x dx= ∫sin x dx=

∫ 1
cos2 x

dx= ∫ 1
cos2 x

dx=

∫ 1
sin2 x

dx= ∫ 1
sin2 x

dx=

∫ 1

√1−x2
dx= ∫ 1

√1−x2
dx=

∫ 1
1−x2 dx= ∫ 1

1−x2 dx=

∫ 1

√ x2
+α

dx= ∫ 1

√ x2
+α

dx=
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Facit
Standardgränsvärden

lim
x→∞

a x

xα=∞

lim
x→∞

xa
a log x

=∞

lim
x→±∞ (1+

1
x )

x

=e

lim
x→0

sin x
x

=1

lim
x→0

ln (1+x )
x

=1

lim
x→0

e x−1
x

=1

Derivata av elementära funktioner

De x= ex

D ln x=1/ x

Da x=ax ln a , a>0och är konstant

D a log x=
1
x ln a

, a>0,a≠1,är konstant

D xα
=α xα−1 , α  är konstant

D sin x=cos x

D cos x=−sin x

D tan x=
1

cos2 x

D cot x=
1

sin2 x

D arcsin x=
1

√1−x2
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D arccos x=−
1

√1−x2

D arctan x=
1

1+ x2

D arccot x=−
1

1+ x2

Elementära primitiva funktioner

∫e x dx= ex+C

∫ 1
x
dx= ln∣x∣+C

∫ xα dx=
xα+1

α+1
+C

∫cos x dx= sin x+C

∫sin x dx=−cos x+C

∫ 1
cos2 x

dx= tan x+C

∫ 1
sin2 x

dx=−cot x+C

∫ 1

√1−x2
dx= arcsin x+C

∫ 1
1−x2 dx= arctan x+C

∫ 1

√ x2
+α

dx= ln∣x+√ x2
+α∣+C
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